
Top of LCAPDVD Mount
Distance from FSUL Rail to 

FSUL2720/3520 Rail

LCAPDVD Mount 
Attached to Rail

2Pcs. Studs with Washers
2Pcs. 1/4" Washers

2Pcs. 1/4" Nuts

FSU Adapter Plate

Monitor, DVD, LCAPDVD,  FSUL & FSWT 
(Sold Separately)

Follow the FSU Installation Instructions for attaching
the monitor to the FSU Adapter Plate.  When attaching
FSU Rails to the monitor add an additional washer
between the monitor and FSU Rail to allow for the
added thickness of the LCAPDVD mount.

Determine the distance from the top of the LCAPDVD
mount to the bottom of the FSU Rail with the Monitor
mounted.

Attach the FSUL2720/3520 rail provided with the
CKFSULCAP conversion kit to the center of the LCAPDVD
mount with the provided studs, washers & nuts.  Use
pliers to hold onto the flat washer while tightening the
nuts.

Follow the LCAPDVD installation instructions for mounting
the DVD or other equipment.

Hang the CKFSULCAP with attached LCAPDVD on the
FSU Adapter Plate before replacing the monitor.

For monitors with 100mm x 100mm or 200mm x 200mm
monting patterns, use two FSU rails and attach monitor
attaching screws through the LCAPDVD mount.

Hang the CKFSULCAP with attached LCAPDVD & Equipment
on the FSU Adapter Plate and secure with the two setscrews
on the FSUL2720/3520 Rail

Pr
ot

ec
te

d 
un

de
r o

ne
 o

r m
or

e 
of

 th
es

e 
U

.S
. P

at
en

t n
um

be
rs

: 3
,2

91
,4

32
  3

,5
59

,9
42

  3
,7

24
,7

98
  D

ES
.2

70
,6

89
  4

,6
13

,1
09

  4
,8

78
,6

45
  4

,8
52

,8
42

  D
ES

.3
09

,5
62

4,
97

3,
02

3 
 5

,1
69

,1
14

  5
,2

55
,8

84
  5

,3
10

,1
52

  5
,5

22
,5

76
  5

,6
21

,6
14

  R
e.

35
,6

77
  

DE
S.

39
8,

83
4 

 5
,8

26
,3

84
  5

,9
41

,4
92

  5
,9

64
,0

68
  6

,0
60

,6
61

  6
,1

02
,3

98
  6

,1
58

,7
04

 6
,4

54
,1

16
B1

 6
,7

61
,2

76
B2

 6
,8

06
,4

25
B1

CKFSULCAP  (2/2010)                                                                                                          ©2010 Lucasey Manufacturing Corporation, Oakland, California                                                                                                               www.lucasey.com

CKFSULCAP - Conversion Kit from FSU Adapters to LCAPDVD
Page 1 of 1CKFSULCAP INSTALLATION INSTRUCTIONS

Component List

1Pc.   FSUL2720/3520 Rail
2Pcs. 1/4-20 x 1" Studs with Washers
2Pcs. 1/4" x 1-1/4" Fender Washers
2Pcs. 1/4-20 Hex Nuts

Fits FSUL2720 and FSUL3520 mounts.  Different  rail can be substituted for FSUL2014 or FSUP adapters


	Sheet1
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View14
	Drawing View15


